Step 1

1. Number in survey:

2. Number reporting at least one hour per week of paid employment:

3. Number not working, but actively seeking work:

4. Number not working and not seeking work who are:

students

homemakers 

retired 

institutionalized 
none of the above

Step 2

Calculate the following:

1. The number of employed is:

2. The number of unemployed is:

3. The labor force is (#1 plus #2):

4. The unemployment rate is:
5. Why might an individual have represented himself or herself as unemployed when in fact

that individual is not actively seeking a job?

6. Why might an individual be counted as “not in the labor force” when that person might actually

want a job?

7. Why might an individual be counted as employed, but not be working as many hours as he or

she wishes?

